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1) Which of the following is thought to be a possible consequence ol rising 00y levels?

[Cuestion ID = 10618]

1. Increased breakdown of atmospheric omne [Option 1D = 42464)

I_ Incressed vegetative produsctivity [Option 1D = 42447

3. Falling global temperature [Option 1D = 43468

4. More rapid warming at the equator than at the poles [Option 1D = 4246%9)

Correct Answer -
& Incressed vegetatie productivity [Option 1D = 42447)

2) When climbing a mountain, we can observe transitions in biological communities that are analogous to the changes:

[Question ID = 10619]

1. at different depths in the ocean [Option 1D = £3400)

I_ in a communidty through different seasons [Option 1D = 424371]
3. in am ecosystem as it evolves over time [Option 1D = 42472)
4. in biomes at different latitudes [Option 1D = 42473)

Comect Amswer -
# in biomes at different latitudes [Option ID = 42473

3) What do diversity indices such as the Shannon Index take into account?

[Question ID = 10620]

1. Alpha diversity and beta diversity [Option 1D = 42474)
I. Evenness and beta diversity [Option B = 43475)

1. Species richness and evennegs [Option 1D = 42474)

4. Species richmess and beta divjersity [Option 1D = 42477

Correct Answer --

# Species richness and evennegs [Option 1D = 42474)

4) The theory that primany produdctiv
supply relative to demand is known as:

[Question ID = 10621]

1. Law of mminimasm metabolic requirement [Option 1D = 42478)

I minimum metabolic requirement [Option 1D = 42479)

3. Principle of limiting factors [Option ID = 43480)

4. Theory of the minimum metabolic requirement [Option 1D = 43481)

is present in the least

Comect Answer -
# Principle of limiting factors [Option ID = 42480)

5) A variable that is affected by and responds to changes in the manipulated variable i called:
[Question ID = 1062 2]

1. controlled variable [Option 1D = L2487

I_ dependent variable [Option D = 42483

3. independent variable [Option 1D = 42484]

4. random variable [Option i = 42485]

Correct Answer -
® dependent variable [Option 1D = 42483]

and the scores (categories) are listed on

&) In a frequency distribution graph, frequencies are presented on the

the .
[Question ID = 10623]

1. Class interval Shorizontal line [Option D = 42486]
I. Horizontal bnefvertical line [Option 1D = 42487)
3. X axis /¥ axis [Option iD= 42488)

4. Y aots/ ) axis [Option 1D = £2489)

Correct Amswer =-
& 7 awisd X axis [Option (D - L3489

71 Which of the following international conventions restricts international trade in endangered species?
[Question 10 = 10624] www.FirstRanker.com

1. CITES [Option ID - 42491)
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# CITES [Option 1D = 43451

8) An ecslogical feotprint is:

[Question ID = 1062 5]

- ameasure of the earth’s biological capacity [Option 1D = 4454)

amount of wilderness available on earth [Option 1D = 424%5)

amount of biologically productive land and water a person uses [Option (D = L3496

a measure of a person’s contribution to creating a sstadnable environment [Option B = 42497

B e P ==
bl i

Correct Amswer -
® amount of biclogically productive land and water a person uses [Option 1D = 42494)

) What is the difference between an endangered species and a threatened species?

[Question ID = 10626]

1. A threatened species may still be abundant now but Liedy to become endangered in the near future [Option 1D = 43498]

I. &threatemed species is at the brink of extinction now and an endangered species is likely to be at the brink i the near future [Option iD= 42495]
1. A threatened species & becoming endangered specifically because of human activities [Option 1D = 42500)

4. There is no difference. The two terms are interchangeable [Option 1D = 42501)

Correct Answer --
& A threatened species may still be abundant now but likedy to become endangened in the near future [Option 1D = 40498)

10} When a doctor uses a stethoscope to cownt your pulse rate, she is gathering information by using the

[Question ID = 1062 7]

1. empirical method [Option B = 42502)
I_ method of intuition [Option D = 42500]
3. method of authority [Option 1D = 42504)
4. rational method [Option |0 - 42505)

Comect Answer -
& empirical method [Option 1D B 42503)

11} The maxirmum per capita rate of increase achieved by a species under ideal environmental copditions i called the:
[Question ID = 10628]

- inherent rate of increase [Oppion 10 - 42506
- inherent growth rate [Option I = 42507)
. intrinsic growth rate [Option 1D = 43°508)
. intrinsic rate of inorease [Option B = 42509

o

Comect Amswer -
# intrinsic rate of inorezase [Option 1D = 425049]

12} What is the Lotka-¥Volterra competition model based on?
[Question ID = 10629]

1. Exponential population growth equation [Option 1D = £2510)

I. Life table equation [Option 1D = 42511)

1. Logistic population growth equation [Option 1D - 42512
4. Realired per capita growth rate equation [Option 1D = 43513)

Correct Answer --
# Logistic population growth equation [Option 1D = 42512)

13} The best measure of central tendency for an extremely skewed distribution of scores would be
[Questien ID = 10630)

1. cannot be determined [Option 1D = 42514]

I the mean [Option ID = 42515)

1. the median [Option 1D = 42518)
4. the mode [Option 1D = 42517)

Correct Answer -
# the median [Option 1D = 42508)

14} Trade winds are the prevailing pattern of surface winds. The factors determining patterns of these winds are:

[Question ID = 10631]
1. El.rltahuml field of Planet Earth

[Option ID = 4251]
L. rotational pattern of Earth www_FirstRanker.com

[Opticn 1D - £514]
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[Option iD= 43521]

Correct Answer --
& uneven surface temperature

[Option ID = £2520]

15) Which of the following shiows the correct order of soil texture from larger Lo smaller diameters?

[Question ID = 1063 2]

1. Gravel, sand, clay, and =it [Option D = 42522]
I_ Gravel, sand, silt, and clay [Option i) = 43523]
3. Gravel, silt, sand, and clay [Option B = 42524]
4. Sand, gravel, zit, and clay [Option ID = 43535)

Correct Answer -
® Gravel, sand, silt, and clay [Option B = 42523

16} All members in which of the following groups have the greatest numbser of characteristics in common?

[Question I = 1063 3]

1. Class [Option ID = 42526)
I. Genus [Option ID = 4252T)
1. Phylum [Option 1D = £3528)
4. Species [Option 1D = 42539)

Correct Answer --
® Species [Option ID = 4253%]

17} What does the system of binomial nomenclature that assigns a wnbguee name to each organism describe?
[Question ID = 10634)

1. Family and species [Option I = 42530)
I. Genus and family [Option 1D ¢ 43511)
3. Order and family [Option 1D o 4253
4. Species and genus [Option 10 = 42531]

Correct Answer =-
® Species and genes [Option 10]= 42511]

18) Wings of birds and insects have the same function but they do not share the same evolutionary origin. Bird and insect

wings are considered to be which of the fallowing?

[Cuestion ID = 10635]

- #nalogous [Option B = 42514)
- Homologous [Option 1D = 43515]
. Phylogenetic [Option 1D = 42536]
. Taxonomic [Option B = 42537

.hl.-H—-

Correct Answer --
#& Analogous [Option 1D = 42534]

19} Which af the following animal phyla is most likely to leave fossils?

[Question ID = 10636]

1. #nnelida [Option |0 = 42538)
2. Cnidaria [Option ID = 42535]
3. Chordata [Option |0 = 250}
4. Mematoda [Option I = 42541]

Correct Answer -
# Chordata [Option D = £50)

20) Which af the following systems is active under stress?
[Question ID = 10637]

1. Complete autonomic nervows system [Option 1D = 4254Z)

I. Parzsympathetic nervous system [Option iD= 4354%)

1. Sympathetic nervous system [Option 1D = 41544)

4. Somatic nervous system [Option 1D = 42545]

Correct Amswer =-
# Sympathetic nervous system [Option 1D = 41544)

21) Migration of fish from fresh water to MWWWn as?

[Question ID = 10638)

1. &nadromous [Option 1D = 43548)
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& Catadromous [Option 1D = £2548)

22) How does pupa survive through its life cycle?
[Question ID = 10639]

1. Caudal flaps [Option I = 42550]

¥, Feeding through the water [Option 1B = 42551)

1. Feeding through the proboscis [Option 1D = L2552)

4. Through food accumulated in the laral stage [Option 1D = 42553)

Correct Amswer =-
# Through food accumelated in the karval stage [Option 1D = 42553)

23) Melatonin is synthesized from which of the following?
[Question ID = 10640]

. Mistamine [Option ID = £2554)

- Melanine [Option 1D = 42555)

- Tyrosine [Option 1D = 43556

. Tryptophan [Option 1D = 42557)

i e P ==

Correct Answer -
# Tryptophan [Option 1D = 42557)

24) The slogan “Taking Action for [iving plomet’ was used by?

[Question ID = 10641]
1. UMESCO

[Option D = 43558]
I. United Mations Envircnment Programme

[Option b = 4255%]
1. ‘World bank

[Cotion 1D = 43580
4. ‘World Wide Fund for Mature

[Opticn 1D - £5&1]

Correct Answer -
& ‘World Wide Fund for Mature

[Opticn 1D - £5&1]

25) The Guinness Book of World Records has declared a5 the largest river island in the warld,

[Question ID = 10642]

1. Bananal [Option If = 42562)

I Marajo [Option 1D = £3563)

3. Majull [Option 1D = 42564)

4. Morgkhrum [Option 1D = 42585

Correct Answer -
& Majull [Dption ID = 43564)

26) Inoan experiment, we manipulate a'an variable o observe an effect on alan variable.
[Question ID = 10643)

1. dependent, another dependent [Option i = £1544)

2. dependent, independent [Option 1D = 42567]

3. independent, anctier independent [Option 1D = 42568

4. independent, dependent [Option 1D = 42545]

Correct Amswer --
& mndependent, dependent [Option 1D = 42569
27) Rooted plants are found only in the ________ rone of a lake,
[Question ID = 10644]
1. limnetic [Option I = 42570]
2. bittoral [Opticn ID - £3571]
= AF5 T
4. pelagic [Option ID = 4577]

Correct Amswer == www.FirstRanker.com

# littoral [Option 1D = 43571)
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[Question ID = 10645)
1. Everything affects everytfing els=

[Option D = 43574]
1. Humans have only one envircnment

[Option b = 42575]
1. The environment is a closed system

[Ootion 1D = 43574
4. Al of these

[Option ID = £2577F]

Correct Amswer =-

& Everything affects everytiing else
[Option D = £2574]

29) Exponential growth is characterized by which of the following?

[Question ID = 10645]

1. 1) Growth at & constant rate

[Cotion 1D = 457
r. I} Growth at constant M

[Dption 1D = 42579
3. I)Both (1) and (2}

[Option 1D = L2580]
4. &) Mome of thiese

www.FirstRanker.com

www.FirstRanker.com

[Option ib = 42581]
Correct Answer --
& 1) Growth at & constant rate
[Option i = 4357TE]
3“} In terms ol a Pﬂpl.llﬂﬂm,m:qm&lﬂ tnd

[Question ID = 10647]
1. Per capita production of goods and sernces by age

[Option b = 2583]
I_ The proportion of the population in different age groups:

[Ootion 1D = 4358Y)
3. The rate of population growth

[Opticn ID - £584]
4_ &l of these

[Option 1D = £2585]

Correct Answer -
#» The proportion of the population in different age groups

[Option 1D = 42581

31) The processes responsible for formation and chamge of Earth's materials are collectively known as the:

[Question ID = 10648]

1. &tmosphenic cpcle [Option 1D = 432584
2. Continental cycle [Option 1D = 425&7]

1. Geologic cycle [Option 1D - 4£358E)
4. Hydrologic cycle [Opticn 1D = 42589)

Correct Amswer =-
# Geologic cycle [Option 1D - 4358E)

32) In the context of biochemical cycles, what does “flux”™ refer to?

[Question ID = 10649]
1. A state of disturbance from retural conditions [Option 1D = 42590)

P T TN TTET O STVET Ty TTOI TIME EATT Sy LCEN |Gt 10 = S0 1]

1. The boss of water vapowr through the pores of plants [Option 1D o4
4. The trarsfer of material or energy from one resenvoir BH‘]FW

Correct Answer --
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[Question ID = 10650]
Carbonate-silicate cycle [Option ID = 43554)

1.

I_ Carbon-phosphate cpcle [Option 1D = 42595]
3. Carbon-silicate cycle [Option 1D = 43554

4. Carbon-sulphate cycle [Option 1D - £557)

Correct Amswer =-
# Carbonate-silicate cycle [Option iD= £554)

34) What are the two fundamental processes that must be studied to understand ecosystem structure and functioning?

[Question ID = 10651]
1. Flow of emergy and opcling of dhemical elements

[Option il = 4255E]
I_ Photosynthesis and respiration

[Ootion 1D = 43559
3. ‘Waste decomposition and cycling of energy

[Opticn 1D - £2600]

4. All of these

[Option 1D = £2601]

Correct Amswer =-
® Flow of erergy and cycling of chemical elements

[Option ID = £2598]

35) What are the species phat are most abundant or etherwise most important in an ecological mnity called?
[Question ID = 10652]

1. Commmon [Option 1D = £3603]

I. Dominant [Option D = 42603

1. Poneer [Option ID = 42804]

4. Predomirant [Option 1D = 42405)

Correct Answer -
# Dominant [Option iD= 43603

36) Which of the following processes lead to bislogical evolution?

[Question ID = 10653]
1. Migration and gemetic drift

[Option 0 = L2806]
I Mutation

[Ootion 1D = 43607
1. Hatural zelecthon

[Opticn 1D - £260H]

4. &ll off these
[Option 1D - 42609

Correct Answer -
& Al of these

[Option 1D = £2609]

37) What are the dominant plants in a fresh water biome called?

[Question ID = 10654]
1. Eichhormia sp.

[Ootion 1D = 42&10)
2. Phytoplonkton

[Ootion 1D = L3&11]
3. Spirogryma

[Dption il = 43613
4. Vallisneria so. www.FirstRanker.com

[Option ID - 42611]
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38) In general what percentage of energy received by green plants from the sun is converted into new plant tissees?

[Question ID = 10655]

- bess than 5 [Option 1D = 43614)
- less than 10 [Option 1D = 4£3415)
- lesz than 15 [Option 1D = 4£3414]
- bess than 25 [Option 1D = L2617

T

Correct Amswer =-
# less than 5 [Option ID = £3614]

39) What are the main components of Integrated Pest Management |IPM)?

[Question ID = 10656]
1. Eiological control

[Cotion 1D = 4361E)
I Land cultue

[Cotion 1D = 42619
3. Chemical control

[Option 1D = L3300

4. &ll of these
[Ootion 1D = 42&21]

Correct Answer -

® Al of these
[Ootion 1D = 42&21]

40) The dose of a toxin aff which a specified percentage of test population dies is known as:
[Question ID = 10657]

. control [Option I = 42623

- lethal dose [Option ib - ]

- placebo dose [Option D = ]

- toocic dose [Opeion 1D = 43634

T

Correct Answer --
& lethal dose [Option ID = L34637T)

41} Why is natwral gas considered a better fossil fuel than oil?

[Question ID = 10658]
- Burning ratural gas is cleaner than burning oil [Option D = 42626]
. Gas commands a higher price than oil [Option 1D = 42627
- Gas is easier to transport [Option 1D = 42638)
. Gas is a renewable resource [Option 1D = 42629)

.hl.-h-—-

Correct Answer --
& Burning ratural gas is cheaner than buming oil [Option B0 = 434636]

42) Direct conversion of electricity using sunlight withowt an intermediate Muid medium s accomplished by which of the
ol boverimg?

[Question ID = 10659]
1. Li-iom battery

[Ootion 1D = 43630)
I Photochemical cell

[Option b = 2411]
1. Photovoltaic cell

[Option ID = 42612
4. All of thiese

[Option b = 2411]
Correct Answer -
L LR LT

[Option b = 2813]

www.FirstRanker.com

43} Long-term plans expect to finish the clean-up work at Chernobyl by which of the following year?
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Correct Answer --
& 1045 [Option I = 42817)

44) What is saltwater intrusion?

[ﬂ_uestmn ID = 10661]

. Excesstve withdrawal of groundwater

[Option 0 = 434 1E]

I Invazion of sitwater into freshwater supplies
[Cotion 1D = 42639

3. Matural outflow of water from a natural spring

[Option ID = L3840

4. All of these

[Ootion 1D = 42&41]

Correct Answer -
& [nvasion of saltwater into freshwater supplies

[Option 0 = £243%]
45) Which of the following compounds absorb earthshine in the wavelengths that typically pass through the atmospheric
windaw?

[Question ID = 10662]
- Carbon dicode [Option 10 = 4364F)

1

z. Chiorofloerccarbons [Option |0 = 4284.1]
1. Ozone [Option 1D = 42634)

4. ‘Water vapour [Option ID = 43845]

Correct Amswer =-
# Chiorofiourocarbons [Option D = 42841]

46) About what percentads o Tolar energy 15 Tellecled Back by iee?

[Question ID = 10663]

1. 10 - 25% [Dption 1D = 42646]
I 10 - 454 [Dption 1D = 42647]
3. &0 - 754 [Dption 1D = 42648]
4. B0 - 95% [Option ID = 42649]

Correct Answer -
® 0 - 95% [Option 1D = 42649

47) Sulphur disxide emissions are predominantly cawsed by which of the fallowing?

[Question ID = 10664]
1. 1} Burning coal
[Option 1D = L3&50)

E. I} Avtomobile emissions
[Option b = £2851]

5 X Both (1) amd {2)
[Ootion 1D = 43457

4. 4} Photochemical smog

[Opticn 1D - £2451]

Correct Answer -
& 1) Both (1) and (2]

[Option 1D - £2452)
48) What is the residence time of CFCs in the atmosphere?
[Question ID = 10665)
1 il ecacs {0ntinn 10 42554

I 100 pears [Option iD= 43455)
3. 1000 years [Option ID = 42654) www.FirstRanker.com

— 4 300 years [Aiphinn i SRST)
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49) Which of the following is a type of evaperfWW. Fimtltnnknr.cnm www.FirstRanker.com

[Question ID = 10666]
1. 1) &=mine

[Ootion 1D = L2865

P I) Monimarine

[Option 1D - £2655]
3 XjBoth (1) and (2)

[Ootion 1D = L28&80)

4_ 4} Home of thiese
[Option ID = L38&81]

Correct Amswer =-

= 1jBoth (1) and ()
[Option 1D = L3&E0)

50} How does urbanization affect a local hydrologic system?

[Question ID = 10667]

1. By increasing storm runoff

[Option |0 = 438a3]
I. By increasing infiltration into groundwater

[Option iD= 43841]
1. By intercepting storm runoff before it reaches streams

[Option 1D = &)
4. A&l of these

[Opticn 1D - £2645]

Correct Answer -
# By increasing storm runaff

[Opticn 1D - £2643]

51) Which of the following radiations is not affected by stratospheric ozone and is transmitted o the surface of the earth?

[Question ID = 10668]

1. U-A

[Option ID = L34
P ]

[Ootion 1D = 428647
I L

[Option ID = L3

4. All of the above

[Ootion 1D = L2685

Correct Answer --
" V-A

[Ootion 1D = L2684

52) Which of the following set of gases are emitted at municipal landfill sites?
[Question ID = 10669]

. CHig,HsS, €O, Wi [Option 1D = 42670)

. MMy, €0, 50y, CHy [Option B = 42671]

. MM, HsS, €0 [Option 0 = 42672

. S0 and CHs [Option 1D = £2671)

s e P ==

Correct Answer --
# CHy, HgS, OOz, Wy [Option 1D = 4267)

[Questien ID = 10670]
1. Energy flows but matter does not [Option 10 - 42674] WWW.FirstRanker.com

ey e eatter-flow f Sptom i 2a TS

3. Matber flows but energy does not [Option 1D = 436 76]
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54) The largest soil type found in India is:

[Cuestion ID = 10671]
1. &lpine soil [Opeion 1D = L08TH)
I Clayey soil [Option ID = 42659

3. Bed soil [Option 1D = £3&80)
4. Black oil [Option 1D = 42881)

Correct Answer --
# Bed soil [Option 1D = £3680)

55) Pabychlorinated biphenyls (PCBs) can cause:

[Question ID = 1067 2]
1. cancers of Ipser and stomach

[Ootion 1D = 42587
I footal deformities

[Cotion 1D = 436ET)
1. mervous disorder

[Option ib = 43684]
4_ Al of the abowe

[Option ID - L2685]

Correct Answer --
& All of the above

[Option ID - L2685]

56) The Climate Change fction Plan of the Government of India has identified as & priopity for exploitation.

[Cuestion ID = 1067 3]
1. Musclear energy [Option 1D = 2885)
I_ Solar energy [Option 1D = 438ET)
3. Thermal energy [Opticn ID = pRe8E)
4. 'Wind energy [Option 1D = 42689]

Correct Answer --
# Splar energy [Option 1D = 43687

57) t-distribution in a large population approaches:

[Question ID = 10674)
1. chi-sguare distribwticon

[Ootion 1D = L2890

I binomial detribukion

[Cotion 1D = 43551)
3. mormal distribution

[Option I = 43853]
4_ Poisson distribuiion

[Option D = L1651

Correct Amswer =-

& mormal aistributicn
[Option D = £1657]

58) As per the Bureaud of Indian Standards (BIS), the tatal dissalved solids in a sample of domestic drinking waber must mot

exceed:

[Question ID = 10675]
1. 100 ppm

[Ootion 1D = 4454
p LT T

[Opticn 1D - £2655]

Y. 500 ppm www.FirstRanker.com

[Option ID = 42656]
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& 500 ppm
[Cotion 1D = 42556

59) The organic component of a water supply can be best assessed by measuring:
[Question ID = 10676]

1. BOD [Option ID - 42698)

. COD [Option iD - 42654]

1. DO [Option 1B - L2700

4. TOC [Option 1D = 42701]

Correct Answer --
& TOC [Option 1D = 42701)

LT ] is & superbug that is credited with the ability to clean up ofl spills.

[Question ID = 1067 7]
1. Bocilius swbiilis

[Cotion 1D = LT0F)
P, Bocifus denitrificons

[Cotion 1D = 4270
3. Psewdomonas putida

[Cotion 1D = 43704
4. Bhizobium olivera

[Opticn iD - £705]

Correct Answer --
& Pseudomaonas putida

[Opticn iD - £2704]

61} Hospitals employ red poloured containers to dump
[Question ID = 106T8]
. discarded laboratory oultures [Option ID = 4Z706]
. discarded sharps [Option 1D = 4X707)

- human aratomical waste [Option D = 42708]

- housekeeping waste [Option D = 4370%)

i e P ==

Correct Answer =-
» discandsd Iamtuq' cultures ['I:Ipd:luun D= -n!IJ‘I]ﬁ]

62) facilitates cellulose degradation in termite gut.

[Question ID = 10679]

1. Ciirobacter

[Cotion 1D = 4710
I Enterococous

[Option ib = 37F11]
1. Enterobocier

[Option b = 43713]
4. Trichonympfa

[Opticn iD - £7T11]

Correct Answer -
® Trichomympio
[Option il = 43711]

63) Baseline studies in an Environmental Impact Assessment refer Lo
[Question ID = 10680]

1. tdentification of the best available project options [Option 1D = 42714)

I. the anthropogenic profile of the project anea [Option 1D = 42715)

3. the floral amd faunal status of the propoted project area IEI:II:H‘I 1D = 42T1&])

4. the prevalent emvinonmental setting of the proposed project area [Option 1D = 1.11'1?]
Correct Answer -- www. FirstRanker.com

& the prr.-alent emvironmental scl:l:lng of e pmpmed pm]:i:t area ||'.'I|:|I:|nr|. D = -1.1:"1:"]
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1. Eguatorial orbit

[Option I = 42T18]
I, Geo-synchronous orbit

[Option D = £371%]
3. Sum symchironous orbit

[Option il = £2720]
4_ Al of these

[Option ID = £2721]

Correct Amswer =-
# Sum symchronous orbit

[Option 1D = £720]

65) Surface winds arownd the mid latitude are usually:
[Question ID = 10682]

1. Cyclonic [Option 10 = 42722]

¥. Geostrophic [Option ID = £2721]

3. Sumgeostrophic [Option 1D = 43724]

4. Typhoonic [Option B - 42775)

Correct Answer --
# Geostrophic [Option 1D = 42727%)

66) Afver the official notification of an Ervironmental Impact Assessment, public hearing must be held within how many

days?

[Question ID = 10683]

1. 10 days [Option 1D = 427H)
I. 10 days [Option ID = 42717)
3. 10 days [Option ID = 4272E]
4. 40 days [Option 1D = 4270%9)

Correct Answer -
& 10 days [Option ID = 4273E]

67) Lincoln index is a statistical measure used to estimate which of the following?

[Question ID = 10684]

1. Total dominance [Option 1D = 42730]

I. Total frequency [Option ID = £3731)

1. Total population deresity [Opticn 1D = 4273F)
4. Total population density [Option 1D = 427335

Correct Answer --
# Total population density [Option 1D = 4271Z)

68) The nature of food web at the developmental stage of a succession is:
[Cuestion ID = 10685]

1. linear, predominantly detritus [Option 1D = 43714

I_ linear, predominantly grazing [Option 1D = 42735)

3. web like, predominantly detribus [Option 1D = 427358]

4. web like, predominantly grazing [Option iD = £3717F]

Correct Answer :
» linear, |:r|:1:|:rn|nan|:|.g,l gru.rrrg ['I:lptn:rl D= -11]']5]

6§9) lsogons are the points that join beds of:
[Question ID = 10686]

1. equal dip amount [Option 1D = L2718

1. equal thickmess [Option I = 427149)

3. opposite strike direction [Option ID = 4£37F)

4. zame strike direction [Option 1D = £3741]

Correct Answer -
& equal dip amount [Option 1D = 43718

70) A drowned river valley estuary s 1ormed wiven:
lﬁl‘““‘ 1D = ‘“"5'“1 www.FirstRanker.com

I. zea level rose at the end of the Last gial:lalagl:- invading low Lands and rivers. [Option 1D - -ﬂi]‘d&]



FirstRanker.com
https://firstranker.com/
https://firstranker.com/

> FirStRAAREFCOTH:

irstranker's choice
akiist www.FirstRanker.com www.FirstRanker.com
® oea level nose at the end of the last glacial age invading Low Lands and rivers_ [Option 1D = 42743])

71) Which af the fallowing bis-fuels is produced from acidification and distillation of woody crops?
[Question ID = 10688]

1. Ethanol [Option |0 = 42746]

I_ Esters [Option 1D = 42747)

3. Methanol [Opticn ID - 43748)

4. Producer gas [Option D = £374%]

Correct Answer -
% Methanol [Option D = 42748)

72) A good automobile fuel in addition to having high calorific value should have:
[Question ID = 10689]

- high ignition temperature [Option 1D = 43750)

. high vioosity [Option 1D = 42751)

- bow igmition temperature [Option D = 42752)

. moderate igrition temperature [Option 1D = 43751

sl P ==

Correct Amswer =-
% maoderate ignition temperature [Opticn 1D = 43751)

73) Aguifers that extend continuously from the land surface through material of high permeability are:
[Question ID = 10690)

. aquitards [Option D = 4X754)

. aquicludes [Option ID - 42755)

. confined aquifers [Option 10 = 42754]

. unconfined aquifers [Option ID = 42757)

i e P ==

Comect Answer -
& wnconfined aguifers [Option |0 = 42757)

T4) The process of splittineg bigger hydrocarbon into smaller hydrocarbon molecubes is called:
[Question ID = 10691]

. cracking [Option ID = 42758)
- combustion [Option 1D = 42759)

. pyrolysis [Option 1D = 42760)
. thermal decompaosition [Option ID = 42781

o

Correct Answer =-
# cracking [Option ID = 42758)

75) The sequence for ease of decomposition of organic compounds in soil is:
[Question ID = 10692]

- Crude protein - Starch - Fat - Lignin - Hemicellulose [Option 1D = £2763)

- Fat - Starch - Ligmin - Hemicellsose - Crude protein [Option iD= £3741]

- Ligmin - Hemicellulose - Starch - Crude protein - Fat [Option 1D = 42764]

- Starch - Crude protein - Hemicellulose - Fat - Lignin [Option 1D = £3765)

T

Correct Answer -

# Starch - Crude protein - Hemicellulose - Fat - Lignin [Option D = 4F785]

T6) Raunkizer's normal bislogical spectrum for phanercgamic flora of the world exhibits which one of the following
sequences of oocurrence of different life forms?

[Question ID = 10693]

1. Phanerophytes. Chaemopiytes, Memicryptophytes, Cryptopiytes, Therophytes [Option 1D = 43764]

I. Phanerophytes. Hemioryptophytes, Cryptophytes, Chaemopiyies, Therophytes [Option 1D = 42747T]

1. Phanerophytes. Hermorypitopinytes, Theropiytes, Chaemophytes, Cryptophytes [Option 1D = 4376E]

4. Phanerophytes. Hemmioryptophytes, Theropiytes, Cryptophytes. Chaemophytes [Option 1D = 4276%)

Correct Answer -
® Phanerophytes. Hemmonyptophytes, Therophytes, Chaemophytes, Cryptophytes [Option 1D = 4276E]

TT) Which af the following categories of earthworms s most suitable for wasteland reclamation?
[Question ID = 10694]
1. Epigeic [Option ID = 42770]

I
3. Endogeic [Option D = 42]']??]
4. Mome of the above [Option I - 42771) www_FirstRanker.com

Correct Answer --
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- alllowing imenigration of other predators [Option 1D = 42774)

- competitively excluding other predators [Option 1D = 42775)

. coevolving with their prey [Option D = 42774]

. preying on commundty”s dominant species [Option 1D = 42777

T

Comrect Amswer --
# preying on commundty”s dominant species [Option 1D = 4XT77)

79) The power to declare an area as a sanctuary of national park of central Government in india’s Wildlife (Protection) Act
1972 i5 under:

[Question ID = 10696]

1. Section 18 [Option ID = 42778)

3. Section 1% [Option ib - 42779)

3. Section 18 [Option ID = 42780)
4. Section 17 [Option ID = 42781)

Correct Answer --
® Section 18 [Option ID = 4277E]

80} As per the Water [Prevention & Control of Pollution) 1974 Act of Iindia, the entire National Capil‘.al Territory of Delhi has
been declared as under Section 19.

[Question ID = 10697]
1. Water pollution control aneas

[Ootion ID = LTEF)
I. ‘Water pollution prevention area

|Ootion 1D = 42TEY)
3. Water pollution prevention ogritrol area

[Ootion 1D = 43784
4. Mone of these

[Opticn iD - £7T45]

Correct Answer --
@ ‘Water pollution prevention corirol anea

[Opticn iD - £784]

81) Hoise pollution was inserted as a type of pollution in the Air (Prevention & Control of Pallution) Act in:
[Question ID = 10698]

1. 1981 [Option I = 427886]

. 1%EE [Option D - 42787]

1. 1987 [Option IO - 42788]

4. 2000 [Option 10 = 42789]

Correct Amswer =-
& 1987 [Option D = 42788]
82) kslets of Langerhans are present in which of the following organs?
[CQuestion ID = 10699)
1. Intestines [Option 1D = LFFH]
I Lymph Modes [Option 1D = £3791)
3. Pancreas [Option D = 427932
4. Thyroid [Opticn 1D = 42791]

Correct Answer -
® Pancreas [Option D = 42793)

83) The loss of genetic variation when a population is established by a small aumber of individuals from a larger population
s called:

[Question ID = 10700]
1. Founder's Effect

[Option 1D = £2754]
1 Pieatrogy

[Betion Ib - £2755] www_FirstRanker.com

—— ettty Effeet
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Correct Answer -
& Founder's Effect

[Opticn 1D - £754]

www.FirstRanker.com www.FirstRanker.com

84) Echolocation in Bats and Cetaceans (Whales and Dolphins) is an example of which of the following?
[Questien ID = 10701]

. Convergent Evolution [Option 1D - 4£076E)
- Dvvergent Evolution [Option 1D = 43799)

. Homeostasis [Option 1D = L3800)
. Paralied Evolution [Option 1D = 4Z801)

.hl.-h-—-

Comect Amswer -
- meergent Evolution |l:':|:|t||:u1. iD= -l-.li"ﬂ]

85) Which of the following & not a pesticide?

[Question ID = 10702]
1. Deldrin

[Cotion 1D = 43807
E. Dichlorodipteryldichloroethans (DDOY

[Option b = L28071]
1. Lindane

[Option D = 41E04]
4. Phosgene

[Opticn 1D - L805]

Correct Answer -
& Phosgene

[Opticn 1D - L805]

B6) Which of the following atmospheric phensmensn is responsible for the blue colour of the sky during clear sunmy days?
[Question ID = 10703)

1. Bectromagnetic scattering [Option B = 42806]
1. Geometric scattering [Opkion 1D = 42807)
3. Mie scattering [Option 1D = 43808)

4. Rayleigh scattering [Option 1D = 42809]

Comect Answer -
& REayieigh scattering [Option 1D = 42809]

87) Blue baby syndrome is caused by contamination from which of the fellowing chemical substances?
[Question ID = 10704]

1. Ammonia [Opticn 1D = 4Z810)

¥. Puuoride [Option IO = 42811]

3. Meroury [Option 1D = 42812)

4. Mitrates [Option B - 42811)

Correct Answer -
& Mitrates [I'.'Ilphu-n [ -ﬂﬂ-l.?l]

88) Ant bites are rich in which of the following acids?
[Question ID = 10705]

- Formic acid [Option 1D = 42814)

- Mydrochionc acd [Opticn I - 42815]

- Tartaric acid [Option D = L3E1&]

- Trifluoromethanesulfonic acid [Option 1D = 43817)

T

Correct Amswer =-
# Formic acid |I'.'I|:|I:rur|.ID -ﬂE'H-]

89) Which of the following & not a food preservation technigue?

[Tuestion 10 = TOT0E]
1. Curing www.FirstRanker.com

——————r—rre
E. Jellying
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4. COnoygenation
[Opticn D = £2E21]

Correct Answer -
# Oeygenation

[Opticn ID - £&21]

90} Which of the following compounds are generally responsible for the phenomenon of Bioluminescence?
[Question ID = 10707]

1. Cytokinin [Option 1D = 42ZHEX]

I Lactiferin [Option |0 = SXR21]

3. Luciferin [Option D = 42824]

4. Somatostatin [Option 1D - 42825]

Correct Answer -
& Luciferin [Option B = 42824]

91) Which af the following scientists discovered Jumping Genes?
[Questien ID = 10708)

- Alec Jeffreys [Option 1D = L308006)

- Barbara mcClinkock [Option 1D = 428XF]

. Elizabeth Winifred Jones [Option D = 42828]
. Mar Gobind Khorara [Option 1D - 42EFY)

o

Correct Answer =-
& Barbara McClintock [Option 1D = 42HXT]

92) Which type of seed di
[Question ID = 10709)

- énemochory [Option 1D = 428010]

- Chiropterochory [Option D = [42831)

- Malacochory [Option D = 428013]
- Ormithochory [Option 1D = ]

T

Correct Amswer =-
# Chiropterochory [Option 1D - 42831)

93) As per the “latitudinal gradient of species diversity’, the species richness or biodiversity:

[Question ID = 10710]

1. increases from the poles o the tropics [Option 1D = 43834)

I_ incresses from tropics to the poles [Option 1D = 428715)

3. shows patchy pattern with respect to latitude [Option 1D = J2834)
4. shows no pattern with respect to latitude [Option 1D = 4ZE5T)

Correct Answer --
# increases from the poles to the tropics [Opkion 1D = 42834)

94) Which among the fellowing is a criterion for a region to be considered as Biodiversity Hotspot?
[Questhon ID = 10711]

- It ment have at least 1500 vasoular plants as endemics [Option 1D = 42838)
- It mest have 50% or less of its original natural vegetation [Option 1D = 43839

- It must have at beast 1000 endemic vascular plant species [Option 1D = 42840)
- It must have all of its known species in the threatened list [Option 1D = £5841]

.hl.-h-—-

Correct Answer -

# [t mest have at least 1500 vasoular plants 25 endemics [Option 1D = 4281E]
95) Who proposed the concept of Biodiversity Hotspats?
[Question I = 10712]

1. &G Tansley [Option 1D = 2842)

I. E O'wilson [Option 1D = 43847)

1. Morman Myers |Option 1D = 42844

4. Richard Dawkinz [Option 10 = L2845)

Correct Amswer =-
% Morman Myers |Option ID = 42844

96) The branch of biology that specifically MWMW is known as:

IH|HH I = 9079 1]
1. Batrachology [Option iD= 4384
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Correct Answer -
& Batrachology [Option 1D = 4284k

www.FirstRanker.com www.FirstRanker.com

97) Which among the following represents living fossils?

[Question I = 10714]
1. Ctenophores

[Option b = £3E50]
I. Ginkgo biloba

[Cotion 1D = 43&51)
3. Horseshoe Crabs

[Opticn iD - £453]
4. All of these

[Option ID = 42851

Correct Answer --
& All of thieze

[Option ID = 42451

98) During ecological succession, a k-selected population tends to dominate in:

[Question ID = 10715]

1. early stages

[Cotion 1D = 43854
I. pioneer stages

[Option Ib = 43855]
3. mature stages

[Option ID - 42854]

4. seral stages

[Option ID = L2457]

Correct Answer -

# mature stages

[Option ID - L2454]

99} Aerial roots are pot found in which of the following plant/tree?

[Question ID = 10716]

1. Avicenmia germinans

[Option b = 4385E]
I_ Bhizophoro mangie

[Option iD= 43&5%)

1. Firus benghaiensis

[Ootion 1D = 43E80)
4. Dowcus carcéo

[Opticn 1D - £8&1]

Correct Answer -
# Dowcus carcéo

[Opticn iD - £8&1]

100} Lion-tailed macagues and Malabar pied hornbills are enly found in the evergreen forests of Western Ghats. Such
species are called:
[Question ID = 1071 7]
. Endemic [Option ID = 42842]
- Bestricted [Option 1D = £2843])
- Swrvivors [Option 1D = 42864)
- Threatened [Option 1D = 2865)

.hl.-'H—'

Correct Answer --

& Endemic [Option 1D - 42862) www.FirstRanker.com
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